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I | T, WEMEFZBIATELR, 1SR ARAIR [2] [2] [2] [2] [2] [2] [2] [2] [2] [2]
L m _ [3] [3] [3] [3] [3] [3] [3] [3] [3] [3]
4. REFEEEL, AEE]. 18, WK, [4] [4] [4] [4] [4] [4] [4] [4] [4] [4]
[5] [5] 5] 5] [51 [5] [51 [51 [51 C5]
ii ErEs: Il sgiREs: WI=1[c1le] |61 61 [61 [61 61 [61 [61 [61 [6] [6]
= (71 (71 [71 [71 [71 (71 [7] [7] (7] [7]
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I. Choose the best answer (20 points, 2 points each)
1. [Al [B1 [C] [D1] 6. [A]l [B]1 [C] [D1]
2. [A]l [B] [C] [D] 7. [A] [B]1 [C] [D]
3. [Al [B]1 [C] [D] 8. [A]l [B]1 [C] [D]
4. [Al1 [B1 [C] [D1] 9. [A1 [B] [C] [D]
5. [A]l [B] [C] [D] 10. [A] [B] [C] [D]
II. Fill in the blanks. (20 points, 2 points each)
1.2%)
2.293)
3.29)
4.(293)
5.29)
6.293)
7.293)
8.2%)
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9.2%)

10.2%)

[1l. Analysis with tree diagram (20 points, 4 points each)
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IV. Answer the questions based on the contextualized excerpt.(40 points, 4 points
each)

1.(493)

2.(493)

6.(493)

7.(49)

8.(4%3)

9.(493)

10.(4%3)
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